M9 - 3.3 - Multiplication-Exponential Form (+/-) HW

Write the following in exponential form, then evaluate if possible.

2X2x2x2x2=25=32 —2x—2%x—2=(=2)3=-8
Ixax4= —3x-3x-3=

5X5= ~5x -5 =

3x3%x3x3= 6% —6 =

IxIxix1= —5Xx —5x —5x =5 =
9x9=

—6X—-6X—-6X—6=

6X6X6= (=2) X (=2) x (=2) = (=2)3 = -8
X Xx= (—2) X (=2)x (=2) x (=2) =
axaxa= (=m) x (=m) x (—m) =
5=51=5 (~a)(-a) =

6=

—4xX4x4=-43=—-64

BB = () =27 Cexs

(5)B)B) = —9X9X9 X9 =

(D) = ~(-2) X (-2) X (-2) = —(-2)* =8

—(=2)x(=2) x(=2) x(=2) =

~(-3)(-3) =
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M9 - 3.3 - Exponential-Multiplication Form (+/-) HW

Write as a repeated multiplication, then evaluate.

23 — _52 —

-2 DD

25 = (=2)? =

3% = (-D*=

2t = (=5)° =

22 = (-2)* =

! -CTOTAD

4% = -(1)°=

3* = —-(2)* =

State whether Positive or Negative —-(2)* =

—4even @

_3odd — @
(-2% =

(_3)odd —

(_6)even — e
~(-2° =

_(_Z)Odd —
~(-37° =

—(=5)even=
~(-5)* =
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M9 - 3.3 - Perfect Change of Base HW

Write in squared exponential form.

4:@ 49 = 169 =

36 = 9= 144 =
100 = 121 = 196 =
25 = 225 = 400 =

Write in cubed exponential form.

27 :@ 64 = 512 =

8 = 343 = 1=
125 = 216 = 729 =
1000 =

Write to 4th power in exponential form.

1 81 = 1296 =

625 =
256 = 2401 =

10000 =
16 = 6561 =

Write with different bases in exponential form.

16 64 = 81 = 256 = 4096 =

16 = 42 64 = 81 = 256 = 4096 =
256 = 4096 =
4096 =
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M9 - 3.3 - Imperfect Change of Base HW

Change to Exponential Form with Lowest Bases

18 = 75 =
20 = 76 =
24 = 76 =
28 = 80 =
32 = 84 =
40 = B8=
44 = 90 =
45 = 96 =
48 = 8=
50 = 108 =
) = 128 =
4= 135 =
c = 162 =
60 = 189 =
63 = 192 =
68 =
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M9 - 3.3 - Lowest Base Change of Base HW

Change to Exponential Form with Lowest Bases

16% =
(16)*

(24 4

6472

813

182

32 21)2

722 =

1083 =

252

16*

273

123 =

762 =
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1693 =

6252

495 =

1003 =

36°

128% =

125% =

10242 =

243% =



